# Asymptotic behavior of elementary solutions of transient generalized diffusion equations

By Matsuyo Tomisaki

(Received Feb. 23, 1987)

#### 1. Introduction.

Let  $\mathfrak{G}=(d/dm)(d/dx)$  be a generalized diffusion operator on an interval S and p(t, x, y) the elementary solution of the generalized diffusion equation

(1.1) 
$$\partial u(t, x)/\partial t = \mathfrak{G}u(t, x), \quad t>0, x \in S,$$

in the sense of McKean [11]. We note that p(t, x, y)dm(y) is the transition probability of the generalized diffusion process having  $\mathfrak S$  as the generator. In this paper we study the asymptotic behavior of p(t, x, y) for large t under the condition that  $\mathfrak S$  is *transient*, i.e.  $\int_0^\infty p(t, x, y)dt < \infty$ , and m(x) varies regularly near the end points of S.

In the previous paper [12], we discussed the same problem for recurrent  $\mathfrak{G}$ . The results there verified rigorously long time tails, i. e.  $t^{-r}$ -decay of moments with r<1, for multiplicative stochastic processes in statistical physics. Recently Y. Okabe [15] studied the asymptotic behavior of the correlation functions of stationary solutions for Stokes-Boussinesq-Langevin equations in order to observe Alder-Wainwright effect, i. e.  $t^{-3/2}$ -decay of velocity autocorrelation function for hard sphere. Our results here for transient  $\mathfrak{G}$  give an explanation for such long time tails of the type  $t^{-r}$  with  $r \geq 1$  from the point of view of one-dimensional generalized diffusion processes.

In [17] we obtained a criterion, in terms of m, for the convergence of the integral  $\int_1^\infty t^{\gamma} p(t, x, y) dt$ . By using it, we can get a rough asymptotic behavior of p(t, x, y) for large time t. Namely, let  $S=(l_1, l_2)$  with  $-\infty \le l_1 < l_2 \le \infty$  and suppose that one of the following assumptions (A.1), (A.2) and (A.3) is satisfied, where  $0 < \rho < 1$ , L(x) is a slowly varying function, and the symbol  $a(x) \sim b(x)$  as  $x \to \alpha$  stands for  $\lim_{x \to \alpha} a(x)/b(x) = 1$ .

(A.1): 
$$|l_i| < \infty$$
,  $i=1, 2$ , there exists the limit  $\theta \equiv \lim_{x\to\infty} |m(l_2-1/x)/m(l_1+1/x)|$ 

This research was partially supported by Grant-in-Aid for Scientific Research (No. 62540124), Ministry of Education, Science and Culture.

562 M. Tomisaki

 $\in [0, \infty)$ , and m(x) satisfies

(1.2) 
$$|m(l_1+1/x)| \sim x^{1/\rho+1}L(x)$$
 as  $x\to\infty$ .

(A.2):  $l_1 > -\infty$ ,  $l_2 = \infty$ , there exists the limit  $\lim_{x\to\infty} |x^2 m(x)/m(l_1+1/x)| = 0$ , and (1.2) is satisfied.

(A.3):  $l_1 > -\infty$ ,  $l_2 = \infty$ , there exists the limit  $\tau \equiv \lim_{x \to \infty} |x^2 m(x)/m(l_1 + 1/x)| \in (0, \infty]$ , and m(x) satisfies

$$(1.3) m(x) \sim x^{1/\rho - 1} L(x) as x \to \infty.$$

Then it follows from [17; Theorem 1] that, for  $\gamma < \rho$ , the integral  $\int_1^\infty t^{\gamma} p(t, x, y) dt$  converges, whence  $p(t, x, y) = o(t^{-\gamma - 1})$  as  $t \to \infty$ . Our aim is to give the following explicit asymptotic formula (1.4) in the above case.

(1.4) 
$$p(t, x, y) \sim c(x, y)t^{-\rho-1}/K(t) \quad \text{as } t \to \infty,$$
 uniformly in  $x, y \in [a, b], a, b \in S,$ 

where c(x, y) is given by (2.3) below and K(t) is a slowly varying function satisfying the asymptotic relation (2.4).

If an extra condition is assumed in the case of (A.3) (see (A.3)' below), then we obtain a stronger formula

(1.5) 
$$p(t, x, y) \sim C_2(\rho)(x-l_1)(y-l_1)t^{-\rho-1}/K(t) \quad \text{as } t \to \infty,$$
 uniformly in  $x, y \in (l_1, a], a \in S$ ,

where  $C_2(\rho)$  is a positive constant given by (2.2). Further, in this case, it holds that

(1.6) 
$$T_{t}f(x) \equiv \int_{S} p(t, x, y) f(y) dm(y)$$
$$\sim C_{2}(\rho)(x-l_{1})(t^{\rho+1}K(t))^{-1} \int_{S} f(y)(y-l_{1}) dm(y) \quad \text{as } t \to \infty,$$

for every f such that  $f(y)(y-l_1) \in L^1(S, m)$ . We will also consider the asymptotic behavior of  $T_t f(x)$  as  $t \to \infty$  for regularly varying functions f such that  $f(y)(y-l_1) \notin L^1(S, m)$ .

As was shown in [12], if  $\mathfrak{G}$  is recurrent, there exists the limit  $\delta \equiv \lim_{x\to\infty} |m(x)/m(-x)| \in (0, \infty]$ , and if m(x) satisfies (1.3), then

$$(1.7) p(t, x, y) \sim D_{\delta \rho} t^{\rho-1} K(t) \text{as } t \to \infty, x, y \in S,$$

where  $D_{\delta\rho} = C_2(\rho) \Gamma(1-\rho) / \Gamma(1+\rho) (1+\delta^{-\rho})$ . This shows a sharp contrast with (1.4). In transient case, a particle starting in the interior hits the boundary  $l_1$  or  $l_2$  and disappears up to a finite time, or approaches the boundary  $l_1$  or  $l_2$ 

ultimately, with positive probability. The difference between (1.4) and (1.7) depends on this fact.

Our results owe to some asymptotic theorem for Krein's correspondence. Krein's one to one correspondence between spectral functions and strings m(x)'s plays an important role in the theory of one-dimensional generalized diffusion operators, and many asymptotic theorems for the correspondence have been already obtained ([4], [5], [7], [8], [9], [17] etc.). Most of those are related to the recurrent case. What we need in our case is that for the transient case, which we will also give in this paper.

We will describe our results in § 2. The definition of the elementary solution will be given in § 3. In § 4 we will discuss an asymptotic theorem for Krein's correspondence. Our results will be proved in § 5.

## 2. Main results.

Let  $S=(l_1, l_2)$  be an open interval with  $-\infty \le l_1 < l_2 \le \infty$  and m(x) be a real valued nontrivial right continuous nondecreasing function on it. We may assume that  $0 \in S$  and m(0)=0 without loss of generality. We denote the induced measure by dm(x). Given a function u on S, we set  $u(l_i)=\lim_{x\to l_i,\,x\in S}u(x),\,i=1,\,2,$  and  $u^+(x)=\lim_{\varepsilon\downarrow 0}\{u(x+\varepsilon)-u(x)\}/\varepsilon$ , if there exist the limits. The integral  $\int_{a+}^{b+}$  is always read as  $\int_{(a,b]}$  or  $-\int_{(b,a]}$  according as  $a\le b$  or a>b. Let  $D(\mathfrak{G})$  be the space of all functions  $u\in L^2(S,m)$  which have continuous versions u (we use the same symbol) satisfying the following two conditions:

a) There are two complex constants A, B and a function  $\mathfrak{G}u \in L^2(S, m)$  such that

$$u(x) = A + Bx + \int_{0+}^{x+} (x-y) \mathfrak{G}u(y) dm(y), \quad x \in S.$$

b) For each i=1, 2, if  $l_i+m(l_i)$  is finite, then  $u(l_i)=0$ .

We then define the generalized diffusion operator  $\mathfrak{G}$  from  $D(\mathfrak{G})$  into  $L^2(S,m)$  by  $D(\mathfrak{G})\ni u\mapsto \mathfrak{G}u\in L^2(S,m)$ . Due to S. Watanabe's argument ([18], see also [9]), the above setting includes not only the absorbing boundary condition but also all cases of reflecting or sticky elastic ones for regular boundaries. Indeed, if  $l_1$  is the regular boundary with the boundary condition  $\theta_1u(l_1)-\theta_2u^+(l_1)+\theta_3\mathfrak{G}u(l_1)=0$ , where  $\theta_1+\theta_2+\theta_3=1$ ,  $\theta_i\geq 0$ , i=1, 3 and  $\theta_2>0$  (such boundary condition is called the sticky elastic one in the case  $\theta_1>0$ ), then we reset  $S=(l_1-\theta_2/\theta_1,\,l_2)$ , extend m(x) by setting  $m(x)=m(l_1)-\theta_3/\theta_2$  for  $l_1-\theta_2/\theta_1< x\leq l_1$ , and take the right continuous modification. Here and hereafter we use the conventions  $1/\infty=0$ ,  $\pm a/0=\pm\infty$ ,  $\infty\pm a=\infty$ ,  $-\infty\pm a=-\infty$ ,  $0^{-a}=\infty$  and  $\infty^{-a}=0$  for a>0.

Now the elementary solution p(t, x, y) of the generalized diffusion equation (1.1) is defined following McKean [11] (see § 3 below for details).  $\mathfrak{G}$  is called recurrent or transient if  $\int_0^\infty p(t, x, y)dt = \infty$  or  $<\infty$  for any  $x, y \in S$ , respectively. It will be seen in the next section that  $\mathfrak{G}$  is transient if and only if  $|l_i| < \infty$  for i=1 or 2.

For  $0 < \rho < 1$  and  $x, y \in S$ , let

(2.1) 
$$C_1(\rho) = \{ \rho(1+\rho) \}^{\rho} / \Gamma(\rho) ,$$

(2.2) 
$$C_2(\rho) = {\rho(1-\rho)}^{\rho}/\Gamma(\rho),$$

$$(2.3) \quad c(x, y) = \left\{ \begin{array}{ll} C_1(\rho)(l_2-l_1)^{-2} \{ \theta^{\rho}(x-l_1)(y-l_1) + (l_2-x)(l_2-y) \}, & \text{if (A.1) holds,} \\ C_1(\rho) \, , & \text{if (A.2) holds,} \\ \tau^{-\rho} C_1(\rho) + C_2(\rho)(x-l_1)(y-l_1) \, , & \text{if (A.3) holds.} \end{array} \right.$$

Besides the assumptions (A.1), (A.2) and (A.3), we are also concerned with the following assumptions.

(A.2)': All conditions in (A.2) are fulfilled and  $m(x) \sim x^{\beta} L_1(x)$  as  $x \to \infty$  for some  $\beta > 0$  and some slowly varying function  $L_1(x)$ .

$$({\rm A}.3)'\colon l_1 + \int_{l_1}^{\rm 0} (y-l_1)^{-1/2} m(y) dy > -\infty, \ l_2 = \infty \ \ {\rm and} \ \ (1.3) \ \ {\rm is \ \ satisfied}.$$

The condition  $l_1 + \int_{l_1}^{0} m(y) dy > -\infty$  implies that the boundary  $l_1$  is either the regular boundary with the absorbing boundary condition or the sticky elastic one, or the exit boundary in the sense of Feller [1] (see also [3; § 4.6]). Further note that (A.3)' implies (A.3) with  $\tau = \infty$ .

Given a  $\rho \in (0, 1)$  and an L(x) in the condition (1.2) or (1.3), let K(x) be another slowly varying function such that

(2.4) 
$$\lim_{x \to \infty} K(x)^{1/\rho} L(x^{\rho} K(x)) = \lim_{x \to \infty} L(x)^{\rho} K(x^{1/\rho} L(x)) = 1.$$

Throughout this paper, slowly varying functions L, K etc. are real valued, positive, locally bounded functions defined on R such that  $\lim_{x\to\infty} L(cx)/L(x)=1$  for any c>0.

THEOREM 1. If one of the assumptions (A.1), (A.2) and (A.3) is satisfied, then (1.4) holds.

THEOREM 2. If (A.2)' or (A.3) is satisfied, then

(2.5) 
$$\limsup_{t\to\infty} t^{\rho+1} K(t) \sup_{a\leq y<\infty} p(t, x, y)/y < \infty, \quad x, a \in S.$$

THEOREM 3. Assume (A.3)'. Then (1.5) as well as the following (2.6) holds.

(2.6) 
$$\limsup_{t\to\infty} t^{\rho+1}K(t) \sup_{y\in S} p(t, x, y)/(y-l_1) < \infty, \quad x\in S.$$

Further (1.6) is valid for every f such that  $f(y)(y-l_1) \in L^1(S, m)$ .

Finally we consider the asymptotic behavior of  $T_t f(x)$  for f satisfying

(2.7) 
$$f(y)(y-l_1) \in L^1((l_1, a), m) \setminus L^1(S, m), \quad l_1 < a < \infty,$$

$$(2.8) f(x) \sim x^{\gamma} L_f(x) \text{as } x \to \infty,$$

where  $L_f$  is a slowly varying function. Note that (2.7) implies  $\gamma \ge -1/\rho$ . By means of [14; Corollary 1], we get

$$(2.9) T_t f(x) \sim (x - l_1) t^{\rho(\gamma - 1)} \kappa(t) \text{as } t \to \infty, \quad x \in S,$$

provided (A.3)' and  $\gamma \ge 1 - 1/\rho$  are satisfied, where  $\kappa(t)$  is a slowly varying function given by

(2.10) 
$$\kappa(t) = \{ \rho(1-\rho) \}^{\rho(1-\gamma)} \Gamma(\rho\gamma+1) \Gamma(\rho+1)^{-1} L_f(t^{\rho}K(t)) K(t)^{\gamma-1} .$$

We show that (2.9) also holds for  $-1/\rho \le \gamma < 1-1/\rho$ .

Theorem 4. Suppose (2.7), (2.8) and (A.3)'. Then (2.9) is valid for  $-1/\rho$   $<\gamma<1-1/\rho$ . Further (2.9) is still valid for  $\gamma=-1/\rho$  if  $\kappa(t)$  is replaced by the following one.

(2.11) 
$$\kappa(t) = \rho^{\rho-1} (1-\rho)^{\rho+1} \Gamma(\rho)^{-1} K(t)^{-1} \int_{1}^{t^{\rho} K(t)} y^{-1} L_{f}(y) L(y) dy.$$

#### 3. Preliminaries.

We define the elementary solution p(t, x, y) of the generalized diffusion equation (1.1) following [3], [11] and [19]. Let S and m(x) be those mentioned at the beginning of § 2. For each  $i=1, 2, \lambda \in C$ , let  $\varphi_i(x, \lambda)$  be the solution of the integral equation

(3.1) 
$$\varphi_i(x, \lambda) = 2 - i + (i - 1)x + \lambda \int_{0+}^{x+} (x - y) \varphi_i(y, \lambda) dm(y), \qquad x \in S.$$

Then, for each  $\alpha > 0$  and i=1, 2, there exists the limit

(3.2) 
$$h_i(\alpha) = (-1)^i \lim_{x \to l_i, x \in S} \varphi_2(x, \alpha) / \varphi_1(x, \alpha).$$

We set

$$1/h(\alpha) = 1/h_1(\alpha) + 1/h_2(\alpha)$$
,  $h_{11}(\alpha) = h(\alpha)$ ,  $h_{22}(\alpha) = -(h_1(\alpha) + h_2(\alpha))^{-1}$ ,  $h_{12}(\alpha) = h_{21}(\alpha) = -h(\alpha)/h_2(\alpha)$ .

The functions  $h_{ij}(\alpha)$ , i, j=1, 2, can be analytically continued to  $C \setminus (-\infty, 0]$ . The spectral measures  $\sigma_{ij}$ , i, j=1, 2, are defined by

$$\sigma_{ij}([\lambda_1, \lambda_2]) = \lim_{\epsilon \downarrow 0} \frac{1}{\pi} \int_{\lambda_1}^{\lambda_2} \mathcal{I}_m \, h_{ij}(-\lambda - \sqrt{-1}\epsilon) d\lambda$$
,

for all continuity points  $\lambda_1 < \lambda_2$ . The matrix valued measure  $[\sigma_{ij}]_{i,j=1,2}$  is symmetric nonnegative definite. Now the elementary solution of the generalized diffusion equation (1.1) is given by

(3.3) 
$$p(t, x, y) = \sum_{i, j=1, 2} \int_{0}^{\infty} e^{-\lambda t} \varphi_i(x, -\lambda) \varphi_j(y, -\lambda) \sigma_{ij}(d\lambda), \quad t > 0, \ x, y \in S.$$

In particular, if  $l_1 + \int_{l_1}^{0} m(y)dy > -\infty$ , then (3.3) is reduced to

$$(3.4) p(t, x, y) = \int_{0+}^{\infty} e^{-\lambda t} \psi(x, -\lambda) \psi(y, -\lambda) \sigma(d\lambda) , t > 0, x, y \in S,$$

where  $\psi(x, \lambda)$  is given by

(3.5) 
$$\psi(x, \lambda) = -\varphi_2(l_1, \lambda)\varphi_1(x, \lambda) + \varphi_1(l_1, \lambda)\varphi_2(x, \lambda),$$

and  $\sigma$  is a Borel measure on  $(0, \infty)$  satisfying the following relations.

(3.6) 
$$\begin{aligned} \varphi_2^2(l_1, -\lambda)\sigma(d\lambda) &= \sigma_{11}(d\lambda), \\ -\varphi_1(l_1, -\lambda)\varphi_2(l_1, -\lambda)\sigma(d\lambda) &= \sigma_{12}(d\lambda) &= \sigma_{21}(d\lambda), \\ \varphi_1^2(l_1, -\lambda)\sigma(d\lambda) &= \sigma_{22}(d\lambda). \end{aligned}$$

We also define the Green function  $G(\alpha, x, y)$  of (1.1) by

(3.7) 
$$G(\alpha, x, y) = G(\alpha, y, x) = h(\alpha)u_1(x, \alpha)u_2(y, \alpha), \quad \alpha > 0, \ x \le y, \ x, \ y \in S,$$

where  $u_i(x, \alpha) = \varphi_1(x, \alpha) + (-1)^{i+1}\varphi_2(x, \alpha)/h_i(\alpha)$ ,  $i=1, 2, \alpha>0$ ,  $x \in S$ .  $u_1(x, \alpha)$  [resp.  $u_2(x, \alpha)$ ] is positive and nondecreasing [resp. nonincreasing] in  $x \in S$  (see [8]). Denote the Laplace transform of p(t, x, y) by  $\tilde{G}(\alpha, x, y)$ :

(3.8) 
$$\widetilde{G}(\alpha, x, y) = \int_0^\infty e^{-\alpha t} p(t, x, y) dt, \quad \alpha > 0, \quad x, y \in S.$$

We should notice that  $G(\alpha, x, y)$  is not necessarily identical with  $\widetilde{G}(\alpha, x, y)$ . Indeed, we need a correction function  $\Phi(x, y)$  to combine  $G(\alpha, x, y)$  and  $\widetilde{G}(\alpha, x, y)$ . Let  $I_k$ ,  $k=1, 2, \cdots$  be the disjoint open intervals such that  $S \subset \operatorname{Supp}(dm) = \bigcup_{k=1}^{\infty} I_k$  and the end points (if exist) belong to  $\operatorname{Supp}(dm) \cup \{l_1, l_2\}$ . For each  $x, y \in S$  with  $x \leq y$ , we set

$$\Phi(x, y) = \Phi(y, x) = \begin{cases}
(x - x_1)(x_2 - y)/(x_2 - x_1), & -\infty < x_1 < x_2 < \infty, \\
x - x_1, & -\infty < x_1 < x_2 = \infty, \\
x_2 - y, & -\infty = x_1 < x_2 < \infty,
\end{cases}$$

if  $x, y \in \overline{I}_k \equiv [x_1, x_2]$  for some  $I_k \neq \emptyset$ , and =0 otherwise. Then it holds that

$$(3.9) G(\alpha, x, y) = \tilde{G}(\alpha, x, y) + \Phi(x, y), \quad \alpha > 0, \quad x, y \in S$$

(see [12; Lemma 1]).

For each  $a \in S$ , let

$$\Psi_a(y) = \left\{ \begin{array}{ll} (x_2 - y)/(x_2 - a), & x_2 < \infty, \\ 1, & x_2 = \infty, \end{array} \right.$$

if  $a, y \in \overline{I}_k \equiv [x_1, x_2]$ ,  $a \neq x_2$  for some  $I_k \neq \emptyset$ , and =0 otherwise. Then there exists a nonnegative function  $q_a(t, y)$ , t > 0,  $y \in (a, l_2)$  such that

(3.10) 
$$u_2(y, \alpha)/u_2(a, \alpha) = \int_0^\infty e^{-\alpha t} q_a(t, y) dt + \Psi_a(y), \quad y \in (a, l_2), \quad \alpha > 0.$$

Hence, by means of (3.7) and (3.8),

(3.11) 
$$p(t, x, y) = \int_0^t p(t-s, x, a) q_a(s, y) ds + \Phi(x, a) q_a(t, y) + p(t, x, a) \Psi_a(y),$$

$$t > 0, \ l_1 < x \le a < y < l_2,$$

(see [12; § 3] for details).

We next observe some estimates of  $\varphi_i(x, \lambda)$ . Due to [6; (2.27)], for  $i=1, 2, x \in S$ ,  $\lambda \in C$ ,

$$(3.12) |\varphi_{i}(x, \lambda)| \leq \exp \sqrt{2|\lambda x m(x)|},$$

$$(3.13) |\varphi_2(x,\lambda)| \leq |x| \exp \sqrt{2|\lambda x m(x)|},$$

$$(3.14) |\varphi_1(x,\lambda)-1| \leq |\lambda x m(x)| \exp \sqrt{2|\lambda x m(x)|},$$

$$(3.15) |\varphi_2(x,\lambda)-x| \leq |\lambda x^2 m(x)| \exp \sqrt{2|\lambda x m(x)|}.$$

It is also easy to see that, if  $l_1 + \int_{l_1}^{0} m(y)dy > -\infty$ , then  $\psi(x, \lambda)$  defined by (3.5) satisfies

$$(3.16) |\phi(x, \lambda)| \leq |x - l_1| e^{-\lambda + M(x)},$$

$$|\psi(x,\lambda)-(x-l_1)| \leq |\lambda|(x-l_1)M(x)e^{-\lambda+M(x)},$$

for  $x \in S$ ,  $\lambda \in C$ , where  $M(x) = \int_{l_1}^{x} (m(x) - m(y)) dy$ .

Finally we note that  $\mathfrak{G}$  is transient if and only if  $l_1 > -\infty$  or  $l_2 < \infty$ . Indeed, since  $\varphi_1(x, \lambda)\varphi_2^+(x, \lambda)-\varphi_1^+(x, \lambda)\varphi_2(x, \lambda)=1$ ,  $x \in S$ ,  $\lambda \in C$ , we get by (3.2)

$$h_i(\alpha) = \left| \int_0^{l_i} \varphi_1(x, \alpha)^{-2} dx \right|, \quad i=1, 2, \quad \alpha > 0,$$

from which  $\lim_{\alpha \downarrow 0} h_i(\alpha) = |l_i|$ , i=1, 2. By using this and (3.7), (3.8), (3.9), we see that  $\mathfrak{G}$  is transient if and only if  $\lim_{\alpha \downarrow 0} h(\alpha) < \infty$ , which is equivalent to  $l_1 > -\infty$  or  $l_2 < \infty$ .

### 4. Asymptotic theorem for Krein's correspondence.

In this section we give some asymptotic theorems for Krein's correspondence. The arguments of Krein's correspondence are due to [6] and [9]. Let m(x) be a nonnegative right continuous nondecreasing function on  $[0, \infty]$  such that  $m(x) \not\equiv \infty$  and  $m(\infty) = \infty$ . We denote the totality of such m by  $\mathcal{M}$ . For  $m \in \mathcal{M}$ , we always set m(0-)=0 and consider the solution  $\varphi_i(x,\lambda)$  of the following integral equation

$$(4.1) \varphi_i(x, \lambda) = 2 - i + (i - 1)x + \lambda \int_{0}^{x+} (x - y) \varphi_i(y, \lambda) dm(y), 0 \leq x < l,$$

where  $i=1, 2, \lambda \in \mathbb{C}$ , and  $l=\sup\{x: m(x)<\infty\}$ . Set

$$h(\alpha) = \lim_{x \uparrow l} \varphi_2(x, \alpha)/\varphi_1(x, \alpha) = \int_0^l \varphi_1(x, \alpha)^{-2} dx, \quad \alpha > 0.$$

h is called the *characteristic function* of m and the correspondence  $m \in \mathcal{M} \to h$  is called *Krein's correspondence*. Let  $\mathcal{H}$  be the class of functions h on  $(0, \infty)$  such that

$$h(\alpha) = c + \int_{0}^{\infty} (\alpha + \lambda)^{-1} \sigma(d\lambda), \quad \alpha > 0.$$

for some  $c \ge 0$  and some nonnegative Borel measure  $\sigma$  on  $[0, \infty)$  satisfying  $\int_{[0,\infty)} (1+\lambda)^{-1} \sigma(d\lambda) < \infty$ . It is well known that Krein's correspondence  $m \in \mathcal{M} \to h$  is a one to one map from  $\mathcal{M}$  onto  $\mathcal{H}$  (see [6], e.g.). From now on we denote Krein's correspondence by  $m \in \mathcal{M} \leftrightarrow h \in \mathcal{H}$ . It is easy to see that

$$c = \inf\{x > 0 : m(x) > 0\},$$
  
$$l = \lim_{\alpha \to 0} h(\alpha) = c + \int_0^\infty \lambda^{-1} \sigma(d\lambda).$$

In the following,  $0 < \rho < 1$ , and L(x) and K(x) are slowly varying functions satisfying (2.4).

THEOREM 4.1 (Kasahara [7]). Let  $m \in \mathcal{M} \leftrightarrow h \in \mathcal{H}$  and  $l = \infty$ . Then the following (4.2) and (4.3) are equivalent each other.

$$(4.2) m(x) \sim x^{1/\rho-1}L(x) as x \to \infty.$$

$$(4.3) h(\alpha) \sim \{\rho/\Gamma(1-\rho)C_2(\rho)\}\alpha^{-\rho}K(1/\alpha) \text{as } \alpha \downarrow 0.$$

Now we will establish a version of Theorem 4.1 corresponding to the case where  $l < \infty$ . The proof for the sufficiency of the first assertion (i) of the following theorem is due to Y. Okabe.

THEOREM 4.2. Let  $m \in \mathcal{M} \leftrightarrow h \in \mathcal{H}$  and  $l < \infty$ . (i) The integral  $I \equiv$ 

 $\int_0^l dx \int_0^x m(y) dy \text{ converges if and only if there exists the limit } J \equiv \lim_{\alpha \downarrow 0} (l - h(\alpha)) / \alpha$   $< \infty$ . Then 2I = J. (ii) The following (4.4) and (4.5) are equivalent each other.

(4.4) 
$$m(l-1/x) \sim x^{1/\rho+1}L(x)$$
 as  $x \to \infty$ .

$$(4.5) l-h(\alpha) \sim \rho^{-1} \Gamma(1-\rho) C_1(\rho) \alpha^{\rho} / K(1/\alpha) as \alpha \downarrow 0.$$

PROOF. (i) First note that, by means of (4.1),

$$\lim_{\alpha \to 0} (\varphi_1(x, \alpha) - 1)/\alpha = \int_{0}^{x+} (x - y) dm(y) = \int_{0}^{x} m(y) dy.$$

Assume  $I < \infty$ . Since, for each  $\alpha > 0$ ,  $\varphi_1(x, \alpha)$  is nondecreasing and  $\varphi_1(x, \alpha) \ge 1$ ,  $x \ge 0$ , we get by (4.1)

$$\begin{split} &(\varphi_1^2(x, \alpha) - 1)/\alpha \varphi_1^2(x, \alpha) \leq 2(\varphi_1(x, \alpha) - 1)/\alpha \varphi_1(x, \alpha) \\ &= 2 \int_{0_{-}}^{x+} (x - y) \varphi_1(y, \alpha) dm(y)/\varphi_1(x, \alpha) \\ &\leq 2 \int_{0_{-}}^{x+} (x - y) dm(y) = 2 \int_{0}^{x} m(y) dy \,. \end{split}$$

By the assumption the last term is integrable on [0, l). Therefore it follows from Lebesgue's dominated convergence theorem that

$$\begin{split} J &= \lim_{\alpha \downarrow 0} (l - h(\alpha)) / \alpha = \int_0^l \lim_{\alpha \downarrow 0} \left\{ (\varphi_1^2(x, \alpha) - 1) / \alpha \varphi_1^2(x, \alpha) \right\} dx \\ &= 2 \int_0^l dx \int_0^x m(y) dy = 2I < \infty \; . \end{split}$$

Conversely, if  $J < \infty$ , then in view of Fatou's lemma,

$$\begin{split} & \infty > J = \lim_{\alpha \downarrow 0} (l - h(\alpha)) / \alpha \\ & \geq \int_0^l \liminf_{\alpha \downarrow 0} \left\{ (\varphi_1^2(x, \alpha) - 1) / \alpha \varphi_1^2(x, \alpha) \right\} dx \\ & = 2 \int_0^l dx \int_0^x m(y) dy = 2I \,. \end{split}$$

Applying the first half of the proof, we have J=2I.

(ii) Let  $m^{-1}(x)$  be the right continuous inverse function of  $x\mapsto m(x)$ . Further, let  $\mu(x)=l^{-2}\int_0^x\{l-m^{-1}(y)\}^2dy$  and  $\mu^{-1}(x)$  be the inverse function of  $x\mapsto \mu(x)$ . Then it holds that

(4.6) 
$$\mu \circ m(l-1/x) = l^{-2} \int_{(1/l-x)} y^{-2} dm(l-1/y), \qquad 1/l \le x < \infty.$$

In view of [6; (12.5)] or [9; (1.10)],  $m^{-1}(x) \in \mathcal{M} \leftrightarrow 1/\alpha h(\alpha) \in \mathcal{H}$ . By virtue of [10; (2)] or [9; (1.11)], we get

(4.7) 
$$m_{o}(x) \equiv lm^{-1} \circ \mu^{-1}(x) / \{l - m^{-1} \circ \mu^{-1}(x)\} \in \mathcal{M}$$

$$\longleftrightarrow h_{o}(\alpha) \equiv (l - h(\alpha)) / l\alpha h(\alpha) \in \mathcal{H} .$$

Noting (4.6), we now find that (4.4) is equivalent to

$$\mu \circ m(l-1/x) \sim l^{-2}(1+\rho)(1-\rho)^{-1}x^{(1-\rho)/\rho}L(x)$$
 as  $x \to \infty$ .

Further, this is equivalent to

(4.8) 
$$m_o(x) \sim c_1 x^{\rho/(1-\rho)} K_1(x)$$
 as  $x \to \infty$ ,

where  $c_1 = l^{2/(1-\rho)} \{(1-\rho)/(1+\rho)\}^{\rho/(1-\rho)}$  and  $K_i(x)$  is a slowly varying function such that

(4.9) 
$$\lim_{x \to \infty} K_1(x)^{(1-\rho)/\rho} L(x^{\rho/(1-\rho)} K_1(x))$$

$$= \lim_{x \to \infty} L(x)^{\rho/(1-\rho)} K_1(x^{(1-\rho)/\rho} L(x)) = 1.$$

(4.7) and Theorem 4.1 assure that (4.8) is equivalent to

$$(4.10) h_o(\alpha) \sim c_2 \alpha^{\rho-1} K_2(1/\alpha) \text{as } \alpha \downarrow 0,$$

where  $c_2=l^{-2}\{\rho(1+\rho)\}^{\rho}\Gamma(1-\rho)/\Gamma(1+\rho)$  and  $K_2(x)$  is a slowly varying function satisfying

(4.11) 
$$\lim_{x \to \infty} K_1(x)^{1-\rho} K_2(x^{1/(1-\rho)} K_1(x))$$

$$= \lim_{x \to \infty} K_2(x)^{1/(1-\rho)} K_1(x^{1-\rho} K_2(x)) = 1.$$

Incidentally, if two slowly varying functions  $r_1(x)$  and  $r_2(x)$  satisfy the asymptotic relation

$$\lim_{x \to \infty} r_{\rm 1}(x)^{1/7} r_{\rm 2}(x^7 r_{\rm 1}(x)) = \lim_{x \to \infty} r_{\rm 2}(x)^7 r_{\rm 1}(x^{1/7} r_{\rm 2}(x)) = 1$$

for some  $\gamma > 0$ , then

$$\lim_{x\to\infty} r_1(x^{1/\gamma})r_2(x)^{\gamma} = 1$$

(see [16; (1.38)] and Lemma [1.10]). Therefore (2.4), (4.9) and (4.11) imply that

$$\lim_{x\to\infty} K(x)K_2(x) = 1.$$

Thus (4.10) is equivalent to (4.5). q. e. d.

## 5. Proof of Theorems.

Throughout this section, we assume that one of the assumptions (A.1), (A.2) and (A.3) is satisfied. Let us recall  $h_i(\alpha)$ , i=1, 2, defined by (3.2). First we note

LEMMA 5.1. The assumptions (A.1), (A.2) and (A.3) imply the following (5.1) and (5.3), (5.1) and (5.4) with  $\tau=0$ , and (5.2) and (5.4), respectively.

$$(5.1) -l_1 - h_1(\alpha) \sim \rho^{-1} \Gamma(1-\rho) C_1(\rho) \alpha^{\rho} / K(1/\alpha) \text{as } \alpha \downarrow 0.$$

$$(5.2) h_2(\alpha) \sim \{\rho/\Gamma(1-\rho)C_2(\rho)\}\alpha^{-\rho}K(1/\alpha) as \alpha \downarrow 0.$$

(5.3) 
$$\lim_{\alpha \to 0} (l_2 - h_2(\alpha)) / (-l_1 - h_1(\alpha)) = \theta^{\rho}.$$

(5.4) 
$$\lim_{\alpha \to 0} (-l_1 - h_1(\alpha))h_2(\alpha) = \tau^{-\rho} C_1(\rho)/C_2(\rho).$$

PROOF. Put  $m_1(x) = -m(-x)$ ,  $0 \le x < -l_1$ ,  $= \infty$ ,  $-l_1 \le x \le \infty$ , and  $m_2(x) = m(x)$ ,  $0 \le x < l_2$ ,  $= \infty$ ,  $l_2 \le x \le \infty$ . Taking the right continuous modification of  $m_1$ , we notice  $m_i \in \mathcal{M} \leftrightarrow h_i \in \mathcal{H}$ , i = 1, 2. Therefore it is obvious that (1.2) [resp. (1.3)] implies (5.1) [resp. (5.2)] by means of Theorem 4.2 [resp. Theorem 4.1]. Let  $U_i(x)$  and  $V_i(x)$  be the inverse functions of  $x \mapsto \int_0^x m_i(y) dy$  and  $x \mapsto x \int_0^1 dy \int_0^y m_i(z) dz$ , respectively, i = 1, 2. Then

$$\lim_{x \to \infty} V_1(x)/V_2(x) = 0 , \qquad \text{if } \theta = 0 \text{ in (A.1)},$$

$$\lim_{x \to \infty} V_1(x)/U_2(x) = \begin{cases} 0 , & \text{if (A.2) holds,} \\ \infty , & \text{if } \tau = \infty \text{ in (A.3).} \end{cases}$$

By using [9; Theorem 2.3] and [17; Proposition 4.1], we have positive constants  $c_i$ , i=1, 2 such that

$$c_1 \leq h_2(\alpha)/U_2(1/\alpha) \leq c_2$$
,  $\alpha > 0$ , if  $l_2 = \infty$ ,  
 $c_1 \leq \{|l_j| - h_j(\alpha)\} V_j(1/\alpha) \leq c_2$ ,  $\alpha > 0$ , if  $|l_j| < \infty$ ,

j=1, 2. Consequently, (A.1) with  $\theta=0$ , (A.2), and (A.3) with  $\tau=\infty$  imply (5.3) with  $\theta=0$ , (5.4) with  $\tau=0$ , and (5.4) with  $\tau=\infty$ , respectively.

Assume  $0 < \theta < \infty$  in (A.1) or  $0 < \tau < \infty$  in (A.3). Let i=2,  $\delta = \theta$  in case (A.1), and i=1,  $\delta = \tau^{-1}$  in case (A.3). Then

$$m_i(|l_i|-1/x) \sim \delta x^{1/\rho+1} L(x)$$
 as  $x\to\infty$ .

Noting (2.4) with  $\delta L(x)$  in place of L(x), we get by Theorem 4.2,

$$|l_i| - h_i(\alpha) \sim \delta^{\rho} \rho^{-1} \Gamma(1-\rho) C_1(\rho) \alpha^{\rho} / K(1/\alpha)$$
 as  $\alpha \perp 0$ .

Hence (5.3) [resp. (5.4)] is also valid for  $0 < \theta < \infty$  [resp.  $0 < \tau < \infty$ ] in case (A.1) [resp. (A.3)]. q. e. d.

We turn to the asymptotic estimate of the Green function  $G(\alpha, x, y)$  as  $\alpha \downarrow 0$ .

LEMMA 5.2. It holds that as  $\alpha \downarrow 0$ .

(5.5) 
$$G(0+, x, y) - G(\alpha, x, y) \sim \rho^{-1} \Gamma(1-\rho)c(x, y)\alpha^{\rho}/K(1/\alpha), \quad x, y \in S.$$

PROOF. Let  $\alpha > 0$  and  $x \le y$ , x,  $y \in S$ . Then by means of (3.7),

$$G(0+, x, y) - G(\alpha, x, y) = \sum_{i=1}^{3} I_i(\alpha, x, y), \quad \text{if } l_2 < \infty,$$

$$G(0+, x, y) - G(\alpha, x, y) = \sum_{i=1}^{3} J_i(\alpha, x, y), \quad \text{if } l_2 = \infty,$$

where

$$\begin{split} I_{1}(\alpha,\,x,\,y) &= (h_{1}(\alpha) + h_{2}(\alpha))^{-1}(\{-h_{1}(\alpha)(\varphi_{1}(x,\,\alpha) - 1) - \varphi_{2}(x,\,\alpha) + x\} \\ &\qquad \qquad \times \{h_{2}(\alpha)\varphi_{1}(y,\,\alpha) - \varphi_{2}(y,\,\alpha)\} \\ &\qquad \qquad - (h_{1}(\alpha) + x)\{h_{2}(\alpha)(\varphi_{1}(y,\,\alpha) - 1) - \varphi_{2}(y,\,\alpha) + y\}), \\ I_{2}(\alpha,\,x,\,y) &= (l_{2} - l_{1})^{-1}(h_{1}(\alpha) + h_{2}(\alpha))^{-1}(-l_{1} - h_{1}(\alpha)) \\ &\qquad \qquad \times \{(l_{2} - l_{1})(h_{2}(\alpha) - y) - (x - l_{1})(l_{2} - y)\}, \\ I_{3}(\alpha,\,x,\,y) &= (l_{2} - l_{1})^{-1}(h_{1}(\alpha) + h_{2}(\alpha))^{-1}(l_{2} - h_{2}(\alpha))(x - l_{1})(y - l_{1}), \\ J_{1}(\alpha,\,x,\,y) &= h_{2}(\alpha)(h_{1}(\alpha) + h_{2}(\alpha))^{-1}(-h_{1}(\alpha)(\varphi_{1}(x,\,\alpha) - 1)\{\varphi_{1}(y,\,\alpha) - \varphi_{2}(y,\,\alpha)/h_{2}(\alpha)\} \\ &\qquad \qquad - (\varphi_{2}(x,\,\alpha) - x)\{1 - \varphi_{2}(y,\,\alpha)/h_{2}(\alpha)\} - (h_{1}(\alpha) + \varphi_{2}(x,\,\alpha))(\varphi_{1}(y,\,\alpha) - 1)), \\ J_{2}(\alpha,\,x,\,y) &= h_{2}(\alpha)(h_{1}(\alpha) + h_{2}(\alpha))^{-1}(-l_{1} - h_{1}(\alpha))\{1 - \varphi_{2}(y,\,\alpha)/h_{2}(\alpha)\}, \\ J_{3}(\alpha,\,x,\,y) &= (h_{1}(\alpha) + h_{2}(\alpha))^{-1}(x - l_{1})(\varphi_{2}(y,\,\alpha) + h_{1}(\alpha)). \end{split}$$

We put

$$\xi(x) = \int_0^x m(y)dy, \qquad \eta(x) = \int_{0+}^{x+} (x-y)ydm(y).$$

Note that by (3.1)

$$\lim_{\alpha \downarrow 0} \{\varphi_1(x, \alpha) - 1\}/\alpha = \xi(x), \qquad \lim_{\alpha \downarrow 0} \{\varphi_2(x, \alpha) - x\}/\alpha = \eta(x).$$

Since  $\lim_{\alpha\downarrow 0} h_i(\alpha) = |l_i|$ , i=1, 2, it holds that as  $\alpha\downarrow 0$ ,

$$I_{1}(\alpha, x, y) \sim \alpha(l_{2}-l_{1})^{-1}(\{l_{1}\xi(x)-\eta(x)\}(l_{2}-y)+\{l_{2}\xi(y)-\eta(y)\}(l_{1}-x)),$$

$$I_{2}(\alpha, x, y) \sim (-l_{1}-h_{1}(\alpha))(l_{2}-x)(l_{2}-y)/(l_{2}-l_{1})^{2},$$

$$I_{3}(\alpha, x, y) \sim (l_{2}-h_{2}(\alpha))(x-l_{1})(y-l_{1})/(l_{2}-l_{1})^{2},$$

$$J_{1}(\alpha, x, y) \sim \alpha\{l_{1}\xi(x)-\eta(x)+\xi(y)(l_{1}-x)\},$$

$$J_{2}(\alpha, x, y) \sim -l_{1}-h_{1}(\alpha),$$

$$I_{3}(\alpha, x, y) \sim h_{2}(\alpha)^{-1}(x-l_{1})(y-l_{1}).$$

Combining these asymptotic estimates with those in Lemma 5.1, we have (5.5). The proof for the case x > y is just the same as above. q.e.d.

The idea of the following proof is due to S. Kotani.

Proposition 5.3.

(5.6) 
$$\lim_{t\to a} t^{\rho+1}K(t)p(t, x, y) = c(x, y), \quad x, y \in S.$$

PROOF. (The present proof which is simpler than the original one is due to S. Kotani.) We note that the matrix  $P(t, x, y) = \begin{pmatrix} p(t, x, x) & p(t, x, y) \\ p(t, y, x) & p(t, y, y) \end{pmatrix}$  is nonnegative definite and the derivative  $\partial P(t, x, y)/\partial t$  is nonpositive definite for all t>0 and  $x, y \in S$ . Further, putting  $g(\alpha, x, y) = G(0+, x, y) - G(\alpha, x, y)$ , we get

$$\alpha \int_0^\infty e^{-\alpha t} dt \int_t^\infty P(t, x, y) ds = \begin{pmatrix} g(\alpha, x, x) & g(\alpha, x, y) \\ g(\alpha, y, x) & g(\alpha, y, y) \end{pmatrix}, \quad \alpha > 0, \quad x, y \in S.$$

It is easy to see that Hardy-Littlewood-Karamata theorem ([16; Theorem 2.3], e.g.) is available for matrix valued functions. Therefore (5.6) follows from Lemma 5.2 immediately. q.e.d.

Next we will study the asymptotic behaviors of spectral measures. By means of (3.3) and Proposition 5.3,

(5.7) 
$$p(t, 0, 0) = \int_{0}^{\infty} e^{-\lambda t} \sigma_{11}(d\lambda) \sim c(0, 0) t^{-\rho - 1} / K(t) \quad \text{as } t \to \infty.$$

Accordingly, by Hardy-Littlewood-Karamata theorem,

(5.8) 
$$\sigma_{11}([0,\lambda]) \sim (c(0,0)/\Gamma(\rho+2))\lambda^{\rho+1}/K(1/\lambda) \quad \text{as } \lambda \downarrow 0.$$

We also get

LEMMA 5.4. It holds that as  $t\rightarrow\infty$ ,

(5.9) 
$$\int_{0}^{\infty} e^{-\lambda t} \varphi_{1}(x, -\lambda) \varphi_{1}(y, -\lambda) \sigma_{11}(d\lambda) \sim c(0, 0) t^{-\rho-1} / K(t),$$
uniformly in  $x, y \in [a, b], a, b \in S$ .

PROOF. Fix  $a, b \in S$  and put  $c_1 = \sup_{x \in [a, b]} (2|xm(x)|)^{1/2}$ . Then, by means of (3.12) and (3.14),

$$\sup_{a \leq x, y \leq b} |\varphi_{1}(x, \lambda)\varphi_{1}(y, \lambda) - 1|$$

$$\leq \sup_{a \leq x, y \leq b} |\varphi_{1}(x, \lambda) - 1| |\varphi_{1}(y, \lambda)| + \sup_{a \leq x, y \leq b} |\varphi_{1}(y, \lambda) - 1|$$

$$\leq c_{1}^{2} |\lambda| \exp\{2c_{1}\sqrt{|\lambda|}\}.$$

Therefore, by virtue of (5.7) and (5.8),

$$\sup_{\alpha \leq x, y \leq b} \left| t^{\rho+1} K(t) \int_{0_{-}}^{\infty} e^{-\lambda t} \varphi_{1}(x, -\lambda) \varphi_{1}(y, -\lambda) \sigma_{11}(d\lambda) - c(0, 0) \right|$$

$$\leq c_{1}^{2} t^{\rho+1} K(t) \int_{0_{-}}^{\infty} \lambda \exp\left\{-\lambda t + 2c_{1} \sqrt{\lambda}\right\} \sigma_{11}(d\lambda) + \left| t^{\rho+1} K(t) \int_{0_{-}}^{\infty} e^{-\lambda t} \sigma_{11}(d\lambda) - c(0, 0) \right|$$

$$\longrightarrow 0 \quad \text{as } t \to \infty.$$

Thus (5.9) follows. q. e. d.

Next we put

$$A = \begin{cases} C_1(\rho)(\theta^{\rho} + 1)(l_2 - l_1)^{-2}, & \text{in case (A.1),} \\ 0, & \text{in case (A.2),} \\ C_2(\rho), & \text{in case (A.3).} \end{cases}$$

LEMMA 5.5.

(5.10) 
$$\lim_{\lambda \to 0} \lambda^{-\rho-1} K(1/\lambda) \sigma_{22}((0, \lambda]) = A/\Gamma(\rho+2).$$

(5.11) 
$$\lim_{t\to\infty} t^{\rho+1} K(t) \int_{0+}^{\infty} e^{-\lambda t} \sigma_{22}(d\lambda) = A.$$

(5.12) 
$$\lim_{t\to\infty} t^{\rho+1} K(t) \int_{0+}^{\infty} e^{-\lambda t} \varphi_2(x, -\lambda) \varphi_2(y, -\lambda) \sigma_{22}(d\lambda) = Axy,$$

$$uniformly \ in \ x, \ y \in [a, b], \ a, b \in S.$$

PROOF. Let  $\alpha > 0$ . Then, by using [17; (5.7)],

$$\int_{0.1}^{\infty} (\lambda(\alpha+\lambda))^{-1} \sigma_{22}(d\lambda) = \alpha^{-1} (\{h_1(\alpha) + h_2(\alpha)\}^{-1} - (l_2 - l_1)^{-1}).$$

First we consider the case (A.1). By means of (5.1) and (5.3),

$$\begin{split} \int_{0+}^{\infty} & (\lambda(\alpha+\lambda))^{-1} \sigma_{22}(d\lambda) = \{-l_1 - h_1(\alpha) + l_2 - h_2(\alpha)\} / (h_1(\alpha) + h_2(\alpha))(l_2 - l_1) \\ & \sim \rho^{-1} \Gamma(1-\rho) C_1(\rho) (\theta^{\rho} + 1) (l_2 - l_1)^{-2} \alpha^{\rho - 1} / K(1/\alpha) \quad \text{as } \alpha \downarrow 0 \,. \end{split}$$

In view of Tauberian theorem on Stieltjes transform ([16; Theorem 2.5], e.g.),

$$\int_{0+}^{\lambda+} u^{-1} \sigma_{22}(du) \sim \{\rho \Gamma(\rho+1)\}^{-1} C_1(\rho) (\theta^{\rho}+1) (l_2-l_1)^{-2} \lambda^{\rho} / K(1/\lambda) \quad \text{as } \lambda \downarrow 0.$$

from which (5.10) follows.

Next assume (A.2). Then,

$$\sigma_{22}((\mathbf{0}, \lambda]) \leq 2\lambda^2 \int_{\mathbf{0}_+}^{\lambda_+} (u(\lambda+u))^{-1} \sigma_{22}(du) \leq 2\lambda (h_1(\lambda)+h_2(\lambda))^{-1} \leq 2\lambda/h_2(\lambda).$$

By virtue of (5.1) and (5.4) with  $\tau=0$ ,

$$\lambda^{-\rho-1}K(1/\lambda)\sigma_{22}((0,\lambda]) \leq 2\lambda^{-\rho}K(1/\lambda)/h_2(\lambda) \longrightarrow 0 \quad \text{as } \lambda \downarrow 0.$$

Thus (5.10) is valid.

Suppose (A.3). Then by (5.2) and by the fact  $h_1(0+)=-l_1$ ,

$$\int_{0+}^{\infty} (\lambda(\alpha+\lambda))^{-1} \sigma_{22}(d\lambda) = \alpha^{-1} (h_1(\alpha) + h_2(\alpha))^{-1}$$

$$\sim \rho^{-1} \Gamma(1-\rho) C_2(\rho) \alpha^{\rho-1} / K(1/\alpha) \quad \text{as } \alpha \downarrow 0.$$

By using Tauberian theorem on Stieltjes transform again, we get (5.10).

- (5.11) is obvious by (5.10) and Abelian theorem.
- (5.12) follows in the same way as in Lemma 5.4 by using (3.13) and (3.15). q. e. d.

PROOF OF THEOREM 1. In order to derive (1.4) from (5.6), we observe the asymptotic behavior of  $\sigma_{12}$ . We use an idea in [13] to do it.

First we note that  $\sigma_{ij}(\{0\})=0$ , i, j=1, 2, because of (5.6). The measure  $\sigma_{12}$  is not necessarily nonnegative but of bounded variation. Therefore  $\sigma_{12}$  is expressed as  $\sigma_{12}=\sigma_1-\sigma_2$ , where  $\sigma_i$ , i=1, 2 are nonnegative Borel measures on  $[0, \infty)$  and  $\operatorname{Supp} \sigma_1 \cap \operatorname{Supp} \sigma_2 = \emptyset$ .

For any fixed sequence  $\{t_n\}$  such that  $t_n \to \infty$ , we set  $\xi_i^{(n)}(\lambda) = t_n^{\rho+1}K(t_n)\sigma_i((0, \lambda/t_n])$ ,  $\xi_i^{(n)}(\lambda) = t_n^{\rho+1}K(t_n)\sigma_i((0, \lambda/t_n])$ ,  $i, j=1, 2, \lambda>0$ . Since  $\sigma_{12}^2(E) \le \sigma_{11}(E)\sigma_{22}(E) \le (\sigma_{11}(E) + \sigma_{22}(E))^2/2$  for Borel sets  $E \subset [0, \infty)$ , we find that  $\xi_i^{(n)}(\lambda) \le \xi_{11}^{(n)}(\lambda) + \xi_{22}^{(n)}(\lambda)$ ,  $\lambda \ge 0$ , as well as

(5.13) 
$$\int_{0+}^{\infty} e^{-\lambda s} d\xi_{i}^{(n)}(\lambda) \leq \sum_{j=1,2} \int_{0+}^{\infty} e^{-\lambda s} d\xi_{jj}^{(n)}(\lambda), \quad s>0, \quad i=1,2.$$

In view of (5.8) and (5.10), we can choose a subsequence  $\{n_k\}$  and nondecreasing functions  $\xi_i^*(\lambda)$ , i=1, 2, on  $[0, \infty)$  such that  $\xi_i^{(n_k)}(\lambda) \to \xi_i^*(\lambda)$  for every continuity point  $\lambda$  of  $\xi_i^*$ . We will show that

$$\xi_{12}^*(\lambda) \equiv \xi_1^*(\lambda) - \xi_2^*(\lambda) = B\Gamma(\rho+2)^{-1}\lambda^{\rho+1}, \quad \lambda > 0$$

where

$$B = \left\{ egin{array}{ll} C_1(
ho)(- heta^
ho l_1 - l_2)(l_2 - l_1)^{-2} \ , & ext{in case (A.1),} \\ 0 \ , & ext{in case (A.2),} \\ -C_2(
ho)l_1 \ , & ext{in case (A.3).} \end{array} 
ight.$$

By virtue of (5.7), (5.11) and (5.13), the sequence  $\left\{\int_{0+}^{\infty} e^{-\lambda s} d\xi_i^{(n_k)}(\lambda)\right\}_{k=1}^{\infty}$  is bounded. In view of [2; Ch. 13, Theorem 2a],

$$\int_{0+}^{\infty} e^{-\lambda s} d\xi_i^{(n_k)}(\lambda) \longrightarrow \int_{0+}^{\infty} e^{-\lambda s} d\xi_i^*(\lambda), \quad s > 0, \quad i = 1, 2.$$

Combining this with (3.12)-(3.15), by the same argument as in Lemma 5.4, we see that

(5.15) 
$$\int_{0+}^{\infty} e^{-\lambda s} \varphi_1(x, -\lambda/t_{n_k}) \varphi_2(y, -\lambda/t_{n_k}) d\xi_{12}^{(n_k)}(\lambda) \longrightarrow y \int_{0+}^{\infty} e^{-\lambda s} d\xi_{12}^*(\lambda),$$
 uniformly in  $x, y \in [a, b], a, b \in S, s > 0.$ 

Note that  $\sigma_{12} = \sigma_{21}$  and hence  $\xi_{12}^{(n)}(\lambda) = \xi_{21}^{(n)}(\lambda)$ . By means of Proposition 5.3, (5.9), (5.12) and (5.15),

$$c(x, y)s^{-\rho-1} = (c(0, 0) + Axy)s^{-\rho-1} + (x+y) \int_{0+}^{\infty} e^{-\lambda s} d\xi_{12}^*(\lambda), \quad x, y \in S, \quad s > 0.$$

By a simple calculation, c(x, y)-c(0, 0)-Axy=B(x+y), from which

$$Bs^{-\rho-1}=\int_{0+}^{\infty}e^{-\lambda s}d\xi_{12}^{*}(\lambda)$$
,  $s>0$ .

This means (5.14).

 $\xi_{12}^*$  is independent of choice of  $\{t_n\}$  and by a standard argument, we get

$$\lim_{t\to\infty} t^{\rho+1} K(t) \int_{0+}^{\infty} e^{-\lambda t} \varphi_1(x, -\lambda) \varphi_2(y, -\lambda) \sigma_{12}(d\lambda) = By,$$
uniformly in  $x, y \in [a, b], a, b \in S$ .

This coupled with (5.9) and (5.12) gives us the assertion of the theorem. q.e.d.

PROOF OF THEOREM 2. Note that the assumption of Theorem 1 is satisfied. Further note that, for each  $x \in S$ , there are  $c_1 > 0$  and  $t_1 > 0$  such that, for  $t \ge t_1$  and  $y \ge x$ ,

$$p(t, x, y) \leq p(t/2, x, x) + \{c_1(y-x)/tk(t)\} \left( \int_0^{t/2} p(s, x, x) ds + \Phi(x, x) \right),$$

where k(t) is the inverse function of  $t \rightarrow tm(t)$ , t>0 (see [14; Lemma 4.2]). Therefore, by means of (3.8) and (3.9),

$$p(t, x, y)/y \leq p(t/2, x, x)/a + \{c_1(y-x)/ytk(t)\} \left( \int_0^{t/2} p(s, x, x) ds + \Phi(x, x) \right)$$
  
$$\leq p(t/2, x, x)/a + (c_1/tk(t))G(0+, x, x),$$

for  $t \ge t_1$  and  $y \ge \max\{x, a\}$ . By virtue of (1.4),

$$\lim_{t\to\infty}t^{\rho+1}K(t)p(t/2, x, x)<\infty.$$

Since  $\limsup_{t\to\infty} h_2(1/t)/k(t) < \infty$  (see [9; Theorem 2.3]), we have by Lemma 5.1

$$\limsup_{t\to\infty} t^{\rho} K(t)/k(t) < \infty.$$

Thus (2.5) follows. q. e. d.

PROOF OF THEOREM 3. We notice that (A.3) with  $\tau = \infty$  holds. (1.5) and (2.5) imply (2.6). (1.6) is deduced from (1.5), (2.6) and Lebesgue's dominated convergence theorem. Hence it is enough to show (1.5).

We use the expression (3.4). Noting the relation (3.6) and (5.8), we see

$$\sigma((0, \lambda]) = \int_{0+}^{\lambda+} \varphi_2(l_1, -\lambda)^{-2} \sigma_{11}(d\lambda) \sim (C_2(\rho)/\Gamma(\rho+2)) \lambda^{\rho+1}/K(1/\lambda) \quad \text{as } \lambda \downarrow 0.$$

By Abelian theorem

$$\int_{0+}^{\infty} e^{-\lambda t} \sigma(d\lambda) \sim C_2(\rho) t^{-\rho-1} / K(t) \quad \text{as } t \to \infty.$$

Fix an  $a \in S$  arbitrarily. Then by virtue of (3.16) and (3.17),

$$\begin{split} \sup_{l_1 < x, y \le a} | \psi(x, \lambda) \psi(y, \lambda) / (x - l_1) (y - l_1) - 1 | \\ & \le \sup_{l_1 < x, y \le a} | \psi(x, \lambda) - (x - l_1) | | \psi(y, \lambda) | / (x - l_1) (y - l_1) \\ & + \sup_{l_1 < x, y \le a} | \psi(y, \lambda) - (y - l_1) | / (y - l_1) \\ & \le 2M(a) |\lambda| e^{2M(a) |\lambda|}. \end{split}$$

Therefore

$$\begin{split} &\sup_{l_1 \leqslant x, \ y \le a} |t^{\rho+1} K(t) p(t, \ x, \ y) / (x-l_1) (y-l_1) - C_2(\rho)| \\ & \le 2 M(a) t^{\rho+1} K(t) \int_{0+}^{\infty} \lambda \exp\{-\lambda (t-2M(a))\} \sigma(d\lambda) + \left| t^{\rho+1} K(t) \int_{0+}^{\infty} e^{-\lambda t} \sigma(d\lambda) - C_2(\rho) \right| \\ & \longrightarrow 0 \quad \text{as } t \to \infty \ , \end{split}$$

which implies (1.5). q. e. d.

We turn to the proof of Theorem 4. In the following, we assume all the conditions in Theorem 4. Let k(x) be the inverse function of  $x \mapsto xm(x)$ ,  $x \ge 0$ , as in the proof of Theorem 2. Then it holds that

(5.16) 
$$k(x) \sim x^{\rho} K(x)$$
 as  $x \to \infty$ ,

(5.17) 
$$f(k(x))m(k(x)) \sim x^{\rho\gamma-\rho+1} L_f(k(x))K(x)^{\gamma-1} \quad \text{as } x \to \infty.$$

For any fixed  $a \in S$ , we set

$$F(x) = \int_{\mathbf{G}_{a,x}} y f(y) dm(y), \quad x > a.$$

Due to [14; Lemma 5.1],

$$\begin{split} &\lim_{x \to \infty} F(x)/x f(x) m(x) = (1-\rho)/(1+\rho\gamma) \;, & \text{if } \gamma \! > \! -1/\rho \;, \\ &\lim_{x \to \infty} F(x)/\!\! \int_1^x y^{-1} L_f(y) L(y) dy = 1/\rho - 1 \;, & \text{if } \gamma \! = \! -1/\rho \;. \end{split}$$

Therefore, by means of (5.16) and (5.17),

$$(5.18) \qquad \lim_{t \to \infty} t^{-1} k(t)^{-1} F(k(t)) / t^{\rho(\gamma - 1)} \kappa(t) = \{ \rho(1 - \rho) \}^{\rho\gamma - \rho + 1} \Gamma(\rho) / \Gamma(\rho\gamma + 2) .$$

Since  $\lim_{x\to\infty} F(x) = \infty$  by the assumption of the theorem, we also have, by (5.16) and (5.17),

(5.19) 
$$\lim_{t \to \infty} (t^{\rho+1} K(t))^{-1} / t^{\rho(\gamma-1)} \kappa(t) = 0.$$

For any c>0 with m(c)>0, let  $m^{(c)}(x)=m(cx)/m(c)$ ,  $l_1/c < x < \infty$ . Then the condition (1.3) implies

$$\lim_{x \to 0} m^{(c)}(x) = m^*(x) \equiv x^{1/\rho - 1}, \quad x \ge 0.$$

We denote  $q_a(t, y)$  in (3.10) by  $q_a^{(c)}(t, y)$  and  $q_a^*(t, y)$  if m is replaced by  $m^{(c)}$  and  $m^*$ , respectively. Then it holds that

$$q_0(t, y) = q_0^{(c)}(t/cm(c), y/c)/cm(c), \qquad t, y > 0,$$

(5.21) 
$$q_0^*(t, y) = C_2(\rho)yt^{-\rho-1}\exp\{-\rho(1-\rho)y^{1/\rho}t^{-1}\}, \quad t, y > 0.$$

Now we give

PROOF OF THEOREM 4. It suffices to show (2.9) for x=0. The argument for the case  $-1/\rho < \gamma < 1-1/\rho$  is similar to that in [14]. So we omit the proof for that case. Suppose  $\gamma = -1/\rho$ , whence  $f \in L^1((a, \infty), m)$ . Fix a sufficiently large  $a \in \operatorname{Supp}(dm)$  so that f is positive on  $(a, \infty)$ . Put

$$T_t f(0) = \int_{t_1+}^{a+} p(t, 0, y) f(y) dm(y) + \int_{a+}^{\infty} p(t, 0, y) f(y) dm(y)$$
  

$$\equiv T_1(t) + T_2(t).$$

Since  $\int_{(l_1,a_1)} |f(y)|(y-l_1)dm(y) < \infty$ , Theorem 3 asserts that

$$T_1(t) \sim C_2(\rho)(-l_1)(t^{\rho+1}K(t))^{-1} \int_{l_1+}^{a+} f(y)(y-l_1)dm(y)$$
 as  $t \to \infty$ .

By this and (5.19),

$$\lim_{t\to\infty} T_1(t)/t^{\rho(\gamma-1)}\kappa(t) = 0.$$

In order to get (2.9), we only have to show

$$(5.22) T_2(t) \sim (-l_1)t^{\rho(\gamma-1)}\kappa(t) \text{as } t \to \infty.$$

We decompose  $T_2(t)$  for each  $u \in (0, 1)$  and  $\eta > 0$  as

$$T_{2}(t) = \left( \int_{\substack{a < y \le \gamma k \\ 0 < s < ut}} + \int_{\substack{a < y \le \gamma k \\ ut \le s < t}} + \int_{\substack{\eta k (t) \\ ut \le s < t}} \right) p(t-s, 0, 0) q_{0}(s, y) f(y) dm(y) ds$$

$$+ \Phi(0, 0) \left( \int_{a < y \le \gamma k (t)} + \int_{\substack{\eta k (t) < y < \infty \\ }} \right) f(y) q_{0}(t, y) dm(y)$$

$$\equiv H_{1}(t, u) + H_{2}(t, \eta, u) + H_{3}(t, \eta, u) + H_{4}(t, \eta) + H_{5}(t, \eta)$$

Since p(t, 0, 0) is nonincreasing in t,

$$H_1(t, u) \leq p(t(1-u), 0, 0) \int_{a+}^{\infty} f(y) dm(y) \int_{0}^{ut} q_0(s, y) ds$$
.

Combining this with (1.4), [14; (3.16)] and (5.19), we get

(5.23) 
$$\lim_{t\to\infty} H_1(t, u)/t^{\rho(\gamma-1)}\kappa(t) = 0.$$

By using (5.20),

$$H_2(t, \eta, u) = \int_u^1 p(t(1-s), 0, 0) ds \int_{a+}^{\eta k(t)+} f(y) q_0^{(k(t))}(s, y/k(t)) dm(y).$$

In view of [14; (4.7)], (5.21), (3.8), and (3.9), for any  $\varepsilon \in (0, 1)$ , there is  $t_1 > 0$  such that

$$\begin{split} &(1-\varepsilon)C_{2}(\rho)\exp\{-\rho(1-\rho)\eta^{1/\rho}u^{-1}\}k(t)^{-1}F(\eta k(t))t^{-1}(-l_{1}-\Phi(0,0))\\ &\leq H_{2}(t,\eta,u)\\ &\leq (1+\varepsilon)C_{2}(\rho)u^{-\rho-1}k(t)^{-1}F(\eta k(t))t^{-1}(-l_{1}-\Phi(0,0)), \qquad t\geq t_{1}. \end{split}$$

Since  $\lim_{c\to\infty} F(cx)/F(c)=1$  as in [14; Lemma 5.1], we see that

$$\lim_{u \uparrow 1} \lim_{\eta \downarrow 0} \liminf_{t \to \infty} H_2(t, \eta, u)/t^{-1}k(t)^{-1}F(k(t)) 
\geq (1-\varepsilon)C_2(\rho)(-l_1-\Phi(0, 0)), 
\lim_{u \uparrow 1} \lim_{\eta \downarrow 0} \limsup_{t \to \infty} H_2(t, \eta, u)/t^{-1}k(t)^{-1}F(k(t)) 
\leq (1+\varepsilon)C_2(\rho)(-l_1-\Phi(0, 0)).$$

In the same way as above,

$$\begin{split} (1-\varepsilon)C_2(\rho)\varPhi(0,\,0) & \leq \lim_{\eta \downarrow 0} \, \liminf_{t \to \infty} \, H_4(t,\,\eta)/t^{-1}k(t)^{-1}F(k(t)) \\ & \leq \lim_{\eta \downarrow 0} \, \limsup_{t \to \infty} \, H_4(t,\,\eta)/t^{-1}k(t)^{-1}F(k(t)) \\ & \leq (1+\varepsilon)C_2(\rho)\varPhi(0,\,0) \,. \end{split}$$

Hence, by means of (5.18),

(5.24) 
$$(1-\varepsilon)(-l_1) \leq \lim_{u \uparrow 1} \lim_{\eta \downarrow 0} \liminf_{t \to \infty} \{H_2(t, \eta, u) + H_4(t, \eta)\} / t^{\rho(\gamma-1)} \kappa(t)$$

$$\leq \lim_{u \uparrow 1} \lim_{\eta \downarrow 0} \limsup_{t \to \infty} \{H_2(t, \eta, u) + H_4(t, \eta)\} / t^{\rho(\gamma-1)} \kappa(t)$$

$$\leq (1+\varepsilon)(-l_1).$$

Notice that we can repeat the argument for [14; (4.18)] in this case, too. Therefore by (3.8) and (3.9),

$$\begin{split} & \limsup_{t \to \infty} H_3(t, \, \eta, \, u)/t^{-1} f(k(t)) m(k(t)) \\ & \leq (-l_1 - \Phi(0, \, 0)) \max_{u \leq s \leq 1} \int_{\eta}^{\infty} y^{\gamma} q_0^*(s, \, y) dm^*(y) < \infty. \end{split}$$

Since  $\lim_{x\to\infty} F(x)/xf(x)m(x) = \infty$  (see [14; Lemma 5.1]), we obtain by (5.18),

$$\lim_{t\to\infty} H_3(t, \eta, u)/t^{\rho(\gamma-1)}\kappa(t) = 0.$$

By the same argument as above,

$$\lim_{t\to\infty} H_5(t, \eta, u)/t^{\rho(\gamma-1)}\kappa(t) = 0.$$

Combining these estimates with (5.23) and (5.24), we arrive at (5.22). q.e.d.

EXAMPLE 5.6 (Elastic Brownian motion). Let us consider the differential operator  $\mathcal{L}=d^2/2dx^2$  on  $(0,\infty)$ . We impose the boundary condition  $\theta_1u(0)-\theta_2u^+(0)+\theta_3\mathcal{L}u(0)=0$ , where  $\theta_1+\theta_2+\theta_3=1$ ,  $\theta_i\geq 0$ , i=1,3,  $\theta_2>0$ , or  $\theta_1-1=\theta_2=\theta_3=0$ . Set  $l_1=-\theta_2/\theta_1$  and m(x)=2x,  $x\geq 0$ ,  $=-\theta_3/\theta_2$ ,  $l_1< x<0$ . As was noted in §2,  $\mathcal{L}$  reduces to  $\mathfrak{G}=(d/dm)(d/dx)$  on  $(l_1,\infty)$ . The diffusion process having  $\mathfrak{G}$  as the generator is called the elastic Brownian motion in the case that  $0<\theta_1<1$  and  $\theta_3=0$ . If  $\theta_1=0$ , then  $\mathfrak{G}$  is recurrent and the asymptotic behaviors of p(t,x,y) and  $T_tf(x)$  were observed in [12] and [14]. So we only consider the case  $0<\theta_1\leq 1$ . Suppose that  $(y-l_1)f(y)\in L^1((l_1,a),m)$ ,  $l_1< a<\infty$ , and  $f(x)\sim x^{\gamma}$  as  $x\to\infty$ . Since the assumption (A.3)' is satisfied, it follows from Theorems 3 and 4 that, for any  $a,x\in S$ ,

$$\lim_{t\to\infty} \sup_{l_1< y,\, z\leq a} |p(t,\,y,\,z)/(y-l_1)(z-l_1)-(2\pi)^{-1/2}t^{-3/2}| = 0\,,$$

$$\limsup_{t \to \infty} t^{s/2} \sup_{y > l_1} p(t, x, y) / (y - l_1) < \infty ,$$

$$T_t f(x) \sim \begin{cases} C_0(2\pi)^{-1/2} (x-l_1) t^{-3/2}, & \gamma < -2, \\ (2\pi)^{-1/2} (x-l_1) t^{-3/2} \log t, & \gamma = -2, \\ 2^{(\gamma+1)/2} \pi^{-1/2} \Gamma(\gamma/2+1) (x-l_1) t^{(\gamma-1)/2}, & \gamma > -2, \end{cases}$$

as  $t \to \infty$ , where  $C_0 = 2 \int_0^{\infty} f(y)(y - l_1) dy$  if  $\theta_1 = 1$ ,  $= 2 \int_0^{\infty} f(y)(y - l_1) dy + f(0)\theta_3/\theta_2$  if  $0 < \theta_1 < 1$ .

ACKNOWLEDGEMENT. The author would like to thank Professors Y. Okabe and S. Kotani for their valuable suggestions.

# References

- [1] W. Feller, The parabolic differential equations and the associated semi-groups of transformations, Ann. of Math., 55 (1952), 468-519.
- [2] W. Feller, An Introduction to Probability Theory and its Applications, Vol. 2 (2nd ed.), Wiley, New York, 1970.
- [3] K. Itô and H. P. McKean, Jr., Diffusion Processes and their Sample Paths, Springer, 1965.
- [4] I.S. Kac, Integral characteristics of the growth of spectral functions for generalized second order boundary problems with conditions at a regular end, Izv. Akad. Nauk. SSSR Ser. Mat., 38 (1971), 154-184 (in Russian), Math. USSR-Izv., 5 (1971), 161-191 (Engl. transl.).
- [5] I.S. Kac, Generalization of an asymptotic formula of V.A. Marčenko for spectral

- functions of a second order boundary value problem, Izv. Akad. Nauk. SSSR Ser. Mat., 37 (1973), 422-436 (in Russian), Math. USSR-Izv., 7 (1973), 422-436 (Engl. transl.).
- [6] I.S. Kac and M.G. Krein, On the spectral functions of the string, Amer. Math. Transl., Ser. 2, 103 (1974), 19-102.
- [7] Y. Kasahara, Spectral theory of generalized second order differential operators and its applications to Markov processes, Japan. J. Math., 1 (1975), 67-84.
- [8] Y. Kasahara, S. Kotani and H. Watanabe, On the Green function of 1-dimensional diffusion processes, Publ. RIMS, Kyoto Univ., 16 (1980), 175-188.
- [9] S. Kotani and S. Watanabe, Krein's spectral theory of strings and generalized diffusion processes, Functional Analysis in Markov Processes (M. Fukushima, ed.), Lecture Notes in Math., 923, Springer, 1982, pp. 235-259.
- [10] M.G. Krein, On some cases of the effective determination of the densities of a nonhomogeneous string from its spectral function, Dokl. Acad. Nauk. SSSR, 93 (1953), 617-620.
- [11] H.P. McKean, Jr., Elementary solutions for certain parabolic differential equations, Trans. Amer. Math. Soc., 82 (1956), 519-548.
- [12] N. Minami, Y. Ogura and M. Tomisaki, Asymptotic behavior of elementary solutions of one-dimensional generalized diffusion equations, Ann. Prob., 13 (1985), 698-715.
- [13] Y. Ogura, One-dimensional bi-generalized diffusion processes (preprint).
- [14] Y. Ogura and M. Tomisaki, Asymptotic behaviors of moments for one-dimensional diffusion processes, (BiBoS preprint series).
- [15] Y. Okabe, On long time tails of correlation functions for KMO-Langevin equations, Probability Theory and Mathematical Statistics (S. Watanabe and Yu. V. Prokhorov, ed.), Lecture Notes in Math., 1299, Springer, 1988, pp. 391-397.
- [16] E. Seneta, Regular Varying Functions, Lecture Notes in Math., 508, Springer, 1976.
- [17] M. Tomisaki, Power order decay of elementary solutions of generalized diffusion equations, Probability Theory and Mathematical Statistics (S. Watanabe and Yu. V. Prokhorov, ed.), Lecture Notes in Math., 1299, Springer, 1988, pp. 511-523.
- [18] S. Watanabe, On time inversion of one-dimensional diffusion processes, Z. Wahrsch. verw. Geb., 31 (1975), 115-124.
- [19] K. Yoshida, Lectures on Differential and Integral Equations, Interscience, New York, 1960.

Matsuyo Tomisaki

Department of Mathematics Faculty of Science and Engineering Saga University Saga 840 Japan